_ r = 1 r+1 _
fr:d.r—cx+0 fxd’x— e +C(r+-1)

2

f.rdx=x—+0 fidx=ln|x|+C
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fsin x dx = —cosx + C fcol:xdx=]n|sinx| + C
Icusxdr = sinx + C fser:xdx = In|secx+tanx| + C
J-taal.t'dx = =In|cosx|+C fcscxdx = —In|escx + cotx| + C
fexdx ="+ C faxdx = %a‘r+0(a>0,a$1)
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fxsinx dx B 78},

fx) =x g(x)=3inx
f(x) =1 g(x) = —cosx
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J'xsinx dx = —xcosx — f—cosx dx

=—xcosx + sinx + C
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jexsinxdx £ F3lojat,

f(x) =e" g(x)=sinx

f(x)=e" g(x)=—cosx

J.e'rsinxdx = —e¥cosx — fwexcasx dx
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je cosx dx

cosx

fxy=ée" g
fx)=¢e" g(x) =sinx

jexcosx dx = e'sinx — fexsinx dx ————F2|7} &l X} sl= Ao} 2F
J.e’sinx dx = —e*cosx + e"sinx — fe’sinxdx
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—e"cosx + e'sinx
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J-exsinxdx =
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